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1
 

 01 
 

1.1 

 

 

1.2 

 

 
1.3 

 

 
1.4 

 

 
1.5 
 

 
 
1.6 
 

 
 
 
 
 
 
 

  1.1.2 

  104/105 
:  C 

  2.2.1 
   30/32 

:  C 

  3.1.3 
  401/406 

:  D 

  4.1.1 

  449-451 

:   B 

  4.2.3 

483 

:  B 

  5.1.1 

 523 

:  C 
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1.7 
 

 
 
1.8 
 

 
1.9 
 

 
1.10 
 

 

(2 x 10 = 20)
 

 

 

 

 

 

 

 

 

 

 

 

 

  5.2.1 

543 
:  C 

  6.1.1 
603/604 

:  B 

  7.1.1 

648-665 

:  B 

  7.2.2/7.2.3 

719-722 

:  A 
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 02 
 

2.1 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  1.2.2 
151-153 

  /  

(i) 
 

  
 
 
=                                           2*500*60,000           
                                40*(1- 60,000/180,000) 
 

 
 
 
 
= 1, 500  

(ii) 
 
= EBQ/2*Ch*(1-D/R)   +  *  
  

 
= {5000/2 *40*(1‒60,000/180,000)} + {60,000/5,000 *500} 
= 66,667  +  6,000 
 
 

 
={1,500/2 *40*(1-60,000/180,000)} + {60,000/1,500 *500} 
= 20,000 + 20,000  
 

 = . 72, 667‒ .  40,000 
 

 
 
 
 
 
 
= . 72,667 
 
 
 
 
 
= .  40,000 
 
 
= .  32,667 
 

 

(EBQ)
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2.2 
         

 
 
2.3 
 

 
 
 
 

  1.3.1 
184 

  

(i) ( ) 
               = 100* 8                     =  800 

 
+                    = 100*150%*  2      =  300 
 

                                                                  1,100 
 

 
 

 1,100 

(ii) ( )
1,100 
1,200 
2,300

2,300/50 46

(iii) – ( )

(25*60) 1,500

1,200
2,700 

2,700/60 45
 

  2.1.1 
20-23 

  

(i) (SEM)
 

 
 
  SEM = 30 /   
          
        = 2
 

(ii) 95%
 
90 +/- (1.96*2) 
(90 + 3.93) – (90 ‒ 3.92) 
93.93  ‒  86.08 
 

 

225 
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2.4 
 

 
 
2.5 
 

 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  2.4.2 
 302 

 
(i) 

              =1,140/(1,000/40)       =     (45.60) 
      = 69/115%                      =        60.00    

                                                     =       14.40 
 

      14.4/60                                           =  24% 
(ii) 

1  = 1,140/1.2    =    950 
                            = 950/ (1,000/50)         = (47.50) 

VAT  = 69/115%                      =  60.00 
                                                                          =  12.50 

 
      = 12.5/60                                                     = 20.83% 

(iii)   = 12.5*20 =   250/950    =  26.31%    
= 14.4*25  = 360/1,140  =  31.58% 

                                                                          5.27%                                     
 

 

  2.5.1 

338 

= 2,000*0.3+ 2,500*0.5+ 3,000*0.2 2,450 
  = 70*0.5+ 75*0.4 + 80*0.1  73 

( ) 
   = 2,450*120 294,000 

    = 2,450 *73 (178,850) 
115,150 

    (7,500) 
107,650 
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2.6 
 

 
 
 

2.7 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  4.1.1 
433 

 
10

 
= 25,000,000*(1.08)3*(1.10)5*(1.12)2 

 

= 25,000,000*(1.259712)*(1.61051)*(1.2544) 
 
= .  63,622,502 

 
= .  65,000,000 ‒ .  63,622,502 
= . 1,377,498 ( )
 

 

  4.2.3 
479 

(PV) ( 20) = 2.6900*20 =  53.8 

(NPV) 16.85 

 36.95 

( 00 01)   1.8475 

 20 

 40 
 



 

KE2 Suggested Solutions  
  2018                                                                                                                                                                                                     Page 8 of 18 
 

2.8 
  

 

 
2.9 
 

 

 
2.10 
 

 
 

  5.1.2 

525 

(i) 

(ii) 

(iii) 

(iv) 

(v) 

(vi) 
 

  5.2.1 

537 

( ‒ )
220,000  = (500 - 480) 

= 11,000 
= ( ‒ )

= (13,200 - 11,000)* 500 = 1,100,000 ( )
 

  7.4.1 
679 

( )
= 160,000 ‒ 18,000 142,000 

  
= 48,000 + 3,500 (51,500) 

= 35,000 ‒ 8,000 (27,000) 
= 7,000 ‒ 900        (6,100) 

 57,400 
= 15,000 + 2,500     ( 17,500) 

        39,900 
 



 

KE2 Suggested Solutions  
  2018                                                                                                                                                                                                     Page 9 of 18 
 

2
03 

 

 
(a)  
            
(i) = (30*30% + 35*45% + 40*25%)        

 34.75

 34.75 – 27 = 7.75     
  

(30*30% + 45*45% + 40*25%) =
 39.25
 =  39.25 – 31 = 8.25  
                                 
   
(ii)        

 (p)                 -           -     2       -     2 

  
 30%   3  (4.75)   22.5625   6.77  
   

 45%   8   0.25      0.0625    0.03   
  

 25%   13   5.25   27.5625    6.89  
        50.1875 13.69    
        
          -          13.69 =  3.7                                       
            
 

(p) x    -    )    -    )2     -    ) 2

   
 30%  (1) (9.25)     85.56     25.67   
  
 45%   14   5.75     33.06    14.88   
  
 25%   9   0.75        0.56      0.14   
       119.18  40.69 
        
          -             69 =  6.38     
          
(b)       
  

 = 3.7/7.75 =    48%        
 

  = 6.38/8.25 =   77.3%       
        

    

            
 

( 10)

  2.3.1/2.4.2 
40/44/306 
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04 
 

 
(a) ( )

 A = 100*25,000 =                 2,500,000  

 B = 200*32,500 =                 6,500,000  

 C = 300*20,000 =                 6,000,000 

               15,000,000 

 
 

( )
( )

300 40%        6,000,000        20,000  

1,600 40%        6,000,000           3,750  

500 20%       3,000,000          6,000  

  
    15,000,000  

  
 

 
A  B  C  

( )               200                    300                            500  

( )                 50                    100                            150  

( )               250                    400                            650  
 
 

A B C

20 80 200 

( )        400,000          1,600,000                  4,000,000  

100 500 1,000 

( )        375,000          1,875,000                  3,750,000  

   

5 105 390 

( )          30,000             630,000                  2,340,000  

( )        805,000          4,105,000                10,090,000  

         25,000               32,500                       20,000  

( )                 32                    126                            505  

( )               282                    526                         1,155  

20%                 56                    105                            231 

( )               339                    632                         1,385  

 
 

  3.2.2 

414-420/422 
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(b)   

 (activity based costing)
. 

 
 

(cost drivers) ABC

. 

 
 

ABC

 ABC

 

 ABC

 
 
 

( 10)
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05
 

 

(a) 

(850 ‒ 0.006X)* X 
 
= 850 X ‒ 0.006 X2 

(b) = 850 ‒ 0.012 X

= 2,000,000 + 50X + 0.01X2           50 + 0.02X 

MC = MR  
                       850 ‒ 0.012X    = 50 + 0.02X 

                  -0.012X ‒ 0.02X    = 50 ‒ 850 

                              - 0. 032 X  = ‒800 

                                            X = ‒800 / -0.032  

                                            X = 25,000 

25,000

P  =  850 ‒ 0.006X 

P   = 850 ‒ 0.006*25,000 

P   = 850 ‒ 150  

P   = 700
700

(c) 

(P) 

P = 850 ‒ 0.006 * 12,000 
 P = 850 ‒ 72 

778
778 * 12,000 9,336,000

= 2,000,000 + 50*12,000 + 0.01(12,000)2 

                         = 2,000,000 + 600,000 + 1,440,000 
( 4,040,000)

5,296,000 

  6.2.1 
624 
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25,000 * 700 17,500,000
2,000,000 + 50*25,000 + 0.01*(25000)
2,000,000 + 1,250,000 + 6,250,000 9,500,000

8,000,000

‒

8,000,000 ‒ 5,296,000

2,704,000

2,704,000

(d) 

 

( ) 

 

 25,000 

 

( 10)
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06 
 
 

 

(a) 

(i) 

60%    14,400

40%     9,600

A B 
14,400*2        = 28,800

14,400*0.3     =    4,320  
28,800 

 
4,320 

 
(28,800/0.96)*0.04  =  1,200

(4,320/0.90)*0.1       =      48
   1,200       480 

30,000 4,800 

                    [(9,600*2)/0.96]*0.25     = 5,000 

                    [(9,600*0.3)/0.9]*0.25    =    800 
  5,000    800 

(30,000*0.25)     =   7,500 

                       (4,800*0.25)       =   1,200 (7,500) 
 

(1,200) 
 

27,500 4,400 
( ) 50 100 

( ) 1,375,000 440,000 
1,815,000

(ii). 
 

( ) ( )
1.5*14,400= 21,600 1,200/8  =  150 21,600*150  = 3,240,000 
0.5*14,400 =   7,200 1,800/8  =  225   7,200*225  = 1,620,000 
                         28,800                            4,860,000 

 

 
 
 

  7.3.1 
650/657 
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(b)  
 

 

 

 

 

 
( 10)
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3
07 

 
 

 
     

(a) ( )

(i)                5,000                  2,000,000 

             95,000                 38,950,000 

           100,000                 40,950,000 

(5%) (5,000) 

             95,000  

             93,000  

               2,000  

(ii) 1                40,950,000 

               10,000,000  

               50,950,000  

(5,000*500) (2,500,000) 

1                48,450,000 

                      95,000 
                      93,000 

2 ( )                47,430,000  

(iii)                         2,000 

( )                  1,020,000 

(2,000*500) ( )                  1,000,000  

( ) 20,000 

(b) ( )
 

             10,000  
 1              93,000  
 (8,000) 
              95,000  
 

             90,000  

               5,000  

  1.4.2 
276/244 
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(c) 

( )

       5,000,000      47,430,000  52,430,000  

         600,000         5,966,000     6,566,000  

       1,600,000      15,132,000  16,732,000  

( )

             90,000                8,000      98,000         535  

             90,000                8,000      98,000          67  

             90,000                4,000  94,000       178 

       780  

(40% )           1,300  

(d) 

( )
( )

8,000 100%                    535        4,280,000  

8,000 100%                     67         536,000  

8,000 50%                  178          712,000  

5,528,000 

 

( 20)
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“ ˜”

“ ˜” suggested 

solution

²

 

  KE2 – Management Accounting Information:     Executive Level Examination                                             2018 


